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1) GPIE 4R XK PCATAR T A 1?2

4) He has a cup of tea everyday.(Interrogative)

1) Doesn’t he have a cup of tea everyday?
2) Doesn’t he has a cup of tea everyday?
3) Has he not have a cup of tea everyday?
4) Hasn't he a cup of tea everyday?

5) X : y < IBIATS -
vi1ly
2) \/x \/y
3)y:1/x
4) 1/x : 1ly
6) Adjective form of ‘Miser’ is-

v 1) miser



2) miserly
3) misery
4) misearly
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17) I know you.(Complex)

1) I know what you are.
v 2) | know who you are.
3) I know who are you.
4) | know what are you.



JMT : Subject + verb + object IF simple sentence & complex PO ARG CH@
Relative pronoun "Who" IR2H ¥ Q@I subordinate clause TOR IO 2|

18) The tea is so hot that | cannot drink it. (Simple)

1) The tea is so hot to drink it.

v 2) The tea is so hot for me to drink
3) The tea is so hot to drink
4) The tea is so hot for me to drink it.

19) D MG 511 2R AT Y3 IM QIR | TR 15 GRS 3o [Bisr @IE?

1) Voo°
2) Svo°
v 3) 0vo°

4)0o°

20) IR (T ORI (PP AT ?

23) Faults are thick where love is thin.

v 1) TP (IACO AT O 5e1d 10T
2) SRS 0 (T AT
3) @ID SERR ReAld I I



25) | must do this. (Negative)

1
2
3
v 4

| cannot but doing this.
| cannot help do do this
| must not do this.

| cannot help doing this.
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26) TR CFaPH (b GPIAT ?

1) 1/2xQRIXGHST
2) Bl x TwHol

v 3) 1/2x I QTP
4) TS x oF

27) a0 51 AISICIRTIL O 752

1) Rew emnfae afe
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31) 7@ <0< RSHTIAP WY F1?

32) (O AT SIS |

v 1) Oil floats on water.
2) Oil is floating is water.
3) Oil floates over water.
4) Oil is floated on water.

33) V3 SAND (T 4R SRAN?

34) He is the best boy in the class.(Positive)

1
2
v 3
4

He is a good boy in the class.

No other boy is so good as he.

No other boy in the class is as good as he.
He is better than any other boy.

N— N N N

I : No other + Superlative degree A< “Id< WX + Verb + So + Superlative
degree < Positive form + as + 2478 Sentence < Subject.
No other boy in the class is as good as he .



35) Noun form of ‘Know’ is-

1
2
3

va

knowing
known
unknown
knowledge

~— N N S

36) sin® = 5/13 X1 cosecH U7 T Po?

v 1) 13/5
2) 5/12
3) 12/5
4) 5/13

37) Every man is potential. Here ‘Every’ is a/an-

v 1) adjective
2) noun
3) pronoun
4) adverb

38) IS BN BB TAE [ABI @1 TR (WF?

39) log 5 3V5 Q3 qd PO?

1) 1/2
2)5
v 3)1/3

4) 1/5

40) Tr1 o &y Ramo?

1) Why Dhaka is famous?

2) Why Dhaka is famous for?

3) What for Dhaka is famous
v 4) What is Dhaka famous for?
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42) T 20T 2T T2-

1) The boy is wicked to the backbone.
v 2) The boy is wicked bone to bone.

3) The boy is naughty
4) The boy is very wicked.

43) @1 RobTRIER Tel@ FTRG Q@151 ?
1) fob1fa R

v 2) fopifd 31
3) Rt %
4) Rob1fya g
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47) fb3 1T F3P?

l)sec206=1-tan?8
2) tanB= cosb/sinb

v 3)sec?26=1+tan 20
4)sin20-cos?26=1

51) The boy writes well. Here ‘well’ is a/an-

1) adjective
2) verb



v 3) adverb
4) noun

52) QT GCR AR FFR Oelf (H1D BiK XToPAT PO Ol5T Iqgil AP ATSA?
1) 0@

2) 0o

v 3)¢
4) 80

53) The sun rises in the east.
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58) It is a quarter to ten now.

1) QYA G 0T IS
v 2) QUd (e 0T A0S
3) A HICG P01 0K
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59) T STd (7 PTATT I157 P ?

1
v 2
3
4

| know where does he live.
| know where he lives.

| know where he is living.

| know where he live.
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60) 5¢ T @ P PTG CT IR © TORI | ¢ T TP P PTG PO ST O FAR?

63) Would that | could fly in the sky !(Assertive)

1) | could fly in the sky.
2) | would fly in the sky

v 3) | wish | could fly in the sky.
4) | wish | fly in the sky.



64) TG Q05T TFTS 2 TARCTA @1 2

65) X + y = 12 Q3R x-y=2 TS xy I T 357

1) 60

2) 140

v 3)35
4) 70

66) ‘Beauty is truth’ Here ‘Beauty’ is -

an abstract noun
a pronoun

a common noun
a collective noun

v
2
3
4
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67) 188 (Td 3R YJIK 80%?

69) Pen through the line.

1) IR GO 713
2) XD @ A3
3) Zafb I T3
v 4)2afb GG 113



70) TR Q3 PRRBTR T |

1) Il am a computer.

2) | has a computer.

3) | had a computer.
v 4) | have a computer.

71) 2 X*7 = 4 X+2 3 x Q7 T4 397?

AT : QAT , x2-y2+2y-1
=x-(y?-2y+1)
=x*-(y-1)?

=(x+y-1 )(x-y+1)

74) fa3 @A AR 51 fqotT 3E?

1) TP 78T x AT 5924
v 2) IR &R / IR

3) AR 312431 / AT SR
4) @A &

75) Td ST GIRIb oI 87T (?
1) 25K



2) (o st
v 3) 83T
4) #5P1 /R

76) 5 53 A T AT |

1) All that gliter is not gold.

2) All that gliters is not gold

v 3) All that gliters is not gold.
4) All that glitters are not gold.
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78) A paragraph must have-

1) topics
2) an object

v 3) a single idea or topic
4) more than one para

81) *ToPd1 ST PO IR 7 S IREL S A H/¢ T AJ?

1) 2%
v 2)30%



3) 5¢%
4) 5%
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v 2) I

3) PRI
4) TR frge

87) 110 0T AT 1 201 A CFaT Po?

91) Noun form of “Young’ is -

1) younger
2) youngest
3) tender

v 4) youth

92) IPMF RCWOIR FART @ SAACAR S} BT I ?

1) TSP
2) YIS



95) (ICAT SR Y2 QRO SICY 6 QTST PKCET ST 031 2/3 WX A | SIYID PO?

1) 35
v 2) 36
3) 53
4) 63
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